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MURURIA  SECONDARY SCHOOL9
FORM 3 CHEMISTRY TUNE UP EXAM    TERM 3  2014 
NAME: ……………………………ADM.NO. …………CLASS:……
Attempt all questions in the spaces provided.

[image: image1.png]Charcoal is a fuel that is commonly used for cooking. When it burns it forms two oxides.

Tron (III) oxide was found to be contaminated with copper (II) sulphate. Describe how
a pure sample of iron (III) oxide can be obtained. (3 marks)

e

In an experiment, dry hydrogen gas was passed over heated Lead (II) Oxide as shown in the

diagram below.

Excess hydrogen

Lead (l{) oxide burning
Dry 3 17} J,
hydrogen
gas
Heat
State and explain the observations made in the combustion tube, (3 marks)

\/ ...................................







[image: image2.png]The table below shows properties of some elements A, B, C and D which belong to the same
period of the periodic table. The letters are not the actual symbols of the elements.

Element A B C D

Mp (°C) 1410 98 -101 660
Atomic radii (nm) 0.117 0.186 0.099 0.143
Electrical conductivity Poor Good Non conductor Good

(a) Arrange the elements in the order they would appear in the period. Give a reason.
(2 marks)

(b) Select the metallic element which is the better conductor of electricity. Give a reason.
(1 mark)

A sample of water in a beaker was found to boil at 101.5°C at | atmospheric pressure.
Assuming that the thermometer was not faulty, explain this observation. (1 mark)




5.     Ammonium ion has the following structure:
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Label on the structure:

a.  covalent bond;

b.  coordinate (dative) bond.



1 mk

6.  10cm3 of concentrated sulphuric (VI) acid was diluted to 100 cm3 of the resulting solution was neutralized by 36cm3 of 0.1 M sodium hydroxide solution.  Determine the mass of sulphuric (VI) acid that was in the concentrated acid (S = 32.0; H = 1.0; O = 16.0)  3 mks 
7.  [image: image4.png]The empirical formula of A is CH,Br. Given that 0.470g of A occupies a velume of 56cm” at

546K and 1 atmospheric pressure, determine its molecular formula.
(H =1.0,C = 12,0, Br = 80.0, molar gas volume at STP = 22.4 dm?).

(3 marks

.......................................................................................................................................................

........................................................................................................................................................

Copper
metal

Ammonia
. ]

gas

Drying
agent

Heated
black solid

Nitrogen





a.  Name a suitable drying agent for ammonia.  1 mk

b.  Describe one chemical test for ammonia.  1 mk

c.  Name X.

9.  Distinguish between ionization energy and electron affinity of an element.  2 mks 
10.  Use the following information on substances S, T, V and hydrogen to answer the questions that follow:

i.  T displaces V from a solution containing V ions.

ii.  Hydrogen reacts with the heated oxide of S but has not effect on heated oxide of V.

a.  Arrange substances S, T, V and hydrogen in the order of increasing reactivity.  2 mks 

b.  If T and V are divalent metals, write an ionic equation for the reaction in (i) above.  2 mks 

11.  [image: image5.png]Acidified potassium manganate (VII) solution is decolourised when sulplur (IV) oxide is
bubbled through it. The equation for the reaction is given below.

2H,0,, + 580, + 2KMnO, K S0,y + 2MSO, +2H SO,
(2)  Which reactant is oxidised? Explain. (2 marks)

(b) Other than the manufacture of sulphuric (V1) acid, state one other use of sulphur (IV)
oxide. (1 mark)

The set up shown below was used to investigate a property of hydrogen gas.

Glass tube
Glass cover \

Original level
’of water

Porous bag I

SIS

Alf

- Beaker 8

Beaker A

State and explain the observation that would be made in the glass tube if beaker A was filled
with hydrogen gas. (3 marks)




13.  Describe how the percentage by mass of copper in copper carbonate can be determined.  3 mks 

14.  Describe how a solid sample of potassium sulphate can be prepared starting with 200cm3 or 2M potassium hydroxide.  3 mks 

14.  a.  The electronic arrangement of the ion of element Q is 2.8.8.  If the formula of the ion is Q3-, state the group and period to which Q belongs. 

Group:







1 mk

Period:







1 mk

b.  Helium, neon and argon belong to group 8 of the periodic table.  Give:

i.  the general name of these elements;




1 mk

ii.  one use of these elements.






1 mk


